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QUESTION 1

For what type of business is DevOps the least suitable? 

A. Companies with unacceptable IT-related risks for the core business 

B. Companies without in-house software development 

C. Small companies or start-ups 

Correct Answer: B 

 

QUESTION 2

Time-to-market is very important. 

In what way is DevOps supporting a short time-to-market? 

A. By funding products and not projects, to allow for innovation and optimization 

B. By reassembling a DevOps team for each project to ensure relevant experience 

C. By training the team based on missing knowledge for each new iteration 

Correct Answer: B 

Reference: https://www.exin.com/article/devops-indispensable-agile-work?language_content_entity=en 

 

QUESTION 3

In DevOps, the organization should start where they are and progress iteratively. 

What needs to change compared to a more traditional environment to facilitate progression? 

A. Cultural and organizational changes within the IT department only 

B. Disappearance of the Development and Operations departments 

C. Implementation of complex systems, to ensure confidence in the systems 

D. Management principles and approaches to information technology 

Correct Answer: D 

 

QUESTION 4

When will an organization find it difficult to adopt DevOps practices? 

A. When many bureaucratic processes are in place, because this causes inflexibility 
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B. When microservices are used, because they expand the attack surface 

C. When operational complexity is high, because DevOps needs a simple architecture 

Correct Answer: A 

 

QUESTION 5

A company is not yet using DevOps practices. The team notices a problematic accumulation of technical debt. One of
the team members suggests implementing DevOps practices to solve this problem. 

Which DevOps practices support reducing technical debt? 

A. Constant refactoring and eliminating previous bottlenecks 

B. Continuous delivery and promoting pair programming 

C. Continuous feedback and implementing a deployment pipeline 

Correct Answer: A 
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